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Vu = φVc = 19

19/2=9.5

19/2=9.5

Vu= 1
2
φVc = 9.5

No shear
reinforcement
is required

2φ fc′ bwd = 18.67 kips

Eq. 11--5

Eq. 11--3

Distance from face of support
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Find Maximum allowable spacing for stirrups

Vu = φVc + φVs → Vs =
Vu − φVc

φ
→ Vmaxs =

Vu − φVc
max

φ

From the given table in page 109 we can find the max (Vu--φVc) to be 34.86 kips, therefore

Vmaxs = 35.47
0.75

= 47.29

since Vmaxs = 47.29 ≤ 4 fc′ bwd = 4 5000 × 11× 16× 1
1000

= 49.78 kips

Smax =
Avfy
50bw

= (2× 0.11 in2)× (60, 000 psi)
(50 psi )× (11 in)

= 24 inches

Smax = d∕2 = 16
2
= 8 inches Smax = 24 inchesACI 11.5.4.1

Eq. 11--14 of ACI

the maximum spacing is the smallest of the following Smax

or

therefore, Smax = 8 inches controls Smax = 8 inches

Center Line of Beam
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